Circuit Problem Worksheet
Name _____________________________________

1.      Find the current in the 20and 5 resistors in the following circuit.

          
2.      In the circuit below, the reading on the ammeter is 3.2 A.
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Determine:

a.      the reading on the voltmeter;

b.      the potential difference across the 40 resistor; and

c.       the current in the 40 resistor.
3.     
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For the circuit above:

a.      Determine the total resistance.

b.      Find the reading on the ammeter.

c.       Draw a voltmeter in the correct place to measure the potential difference across the 0.3 resistor.

d.      Draw an ammeter in the correct place to measure the current in the 0.3 resistor.

e.      Determine the readings on the meters mentioned in parts (c) and (d) above.
